THE COST OF AN ARM AND A LEG: DESIGNING
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« We seek general methods to design robots for multiple sets
of behaviors.

« These methods should provide a rational basis for design
decisions and quantify tradeoffs among behaviors.
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« We propose employing those methods to design robots
which reuse limbs for locomotion and manipulation tasks.
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»  Operating for long periods Example concept: a 4-limbed robot which performs tasks in bipedal
and quadrupedal configurations. Each limb gets repurposed in the
different behavioral regimes.
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post-hoc.  Motivated by the need for endurance, we present an N K manipulator w/o springs

electrical power metric for evaluating designs.
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» The result: robots have
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